Code here is in two parts. Written as a
for/do loop and also “calculator” style. The
loop method is certainly more efficient
coding style. Homework can be done either
way.

The scilab code is exactly the same as what
one would type in matlab or octave.




>A=[1111;4321;1221;1322]

A =
1.
4.
1
1.

ans =
4.
ans =
6.
ans =
8.
ans =
10.
ans =
12.

3.

-->for j=1:

2.

2.

2.

1. 1
3. 2
2. 2.
2
5,

A(1,1)=j;

N B R

-->A(1,1)=1;det(A)

ans =
4.

-->A(1,1)=2;det(A)

ans =
6.

-->A(1,1)=3;det(A)

ans =
8.

-->A(1,1)=4;det(A)

ans =
10.

-->A(1,1)=5;det(A)

ans =
12.

—->A(1,1)=1; B=inv(A)*det(A);B(1,1)

ans =
2.

—->A(1,1)=2; B=inv(A)*det(A);B(1,1)

ans =
2.

-->A(1,1)=3; B=inv(A)*det(A);B(1,1)

ans =
2.

-->A(1,1)=4; B=inv(A)*det(A);B(1,1)

ans =
2.

-->A(1,1)=5; B=inv(A)*det(A);B(1,1)

ans =
2.

B=det(A)*inv(A);[det(A) B(1,1)],



Mathematica

= | (R
83 Untitled-1 * CER
o
nes= A=4{1,1,1, 1}, {4, 3, 2,1}, {1, 2, 2, 1}, {1, 3, 2, 2}} 78
owps= 4{1, 1, 1, 1}, {4, 3, 2, 1}, {1, 2, 2, 1}, {1, 3, 2, 2}} 1]
21~ DO[{AL[L, 111 = i, B = Det[A] » Inverse [A] , Print[Det[A], * ", BL[1, 111 1}, (i, 5}] 1]
4z :
£ 2 ]
gz .
10 2 3
1z 2 1
n34)= RL[1, 111 = 1; Det[A] T
outfid)= 4 3
infz]= ALI1, 111 = 2; Det[a] y
out[E= 6 3|
A[[1, 111 =3 : Det[A] i
nuwpE)= & 3|
inE7]:= AL[1, 111 = 4: Det[#] j_
o= 10 3|
npl= AL, 111 = 5; Det[A] 7
owpe 12 3|
nz]= RL[1, 111 =1; B =Det[A] ~Inverse[A]: BL[1, 1]] 1
owpes 2 3
inMo]:= AL[1, 111 = 2; B =Det[f] «»Inverse[A]; B[[1, 1]] j
In[@1]:= 2 ]
R[[1, 111 = 3:; B =Det[A] +Inverse[A]; BL[1, 1]]
outfH]= 2 : |
100 ~ .




188

A=arrap(ll1,1,1,11.04.3.2,11,[1.,2,2,11.[1.3.2.211>

for i in range(@, 5>:
ALB.A1=i+1; print<det{A>>

for i in range(@_5>:
ALA.Al=i+1; B=inuv{A>xdet{A>; print{B[B.A1>

ALB.B8]1=1; print{detCAd>

ALA.B1=2; print{det{Ad>

ALA.B1=3; print{det<Ad>

ALB.B]1=4; print<{det{Ad>

ALB.B1=5; printd{det{Ad>

ALB,.B81=1; B=inv<Ad=det<A>; print<{BL[A.A1>

ALA.B1=2; B=inv{Ad=det{A>; print<{BIA.A1}

AL[A. A1=3; B=inv{Ad>=det{(A>; print{(BI[A. A1

ALA.B81=4; B=inv{Ad=det{A>; print{(BI[A.A1}

ALIBA. A]1=5; B=inv{Ad=det{(A>; print{(BI[A.A1>




Note that matrix( c(1,1,1,1,4,3,2,1,1,2,2,1,1,3,2,1),4,4, byrow=TRUE) gives the matrix “transposed” as in the other languages
= RGui
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HEEIBRERIENE

I~ R Console
>
> A=mpatrix(ci(l,1,1,1,4,3,2,1,1,2,2,1,1,3,2,2),4,4)
> A
[-11 [.2] [.31 [.4%]
[1,] 1 4 1 1
[2,] 1 3 2 3
[3,] 1 2 2 Z
[4,] 1 1 1 2
> for [k in 1:5) {A[1l,1]=k;print(det (i)}
[1] 4
[1] &
[1] &
[1] 10O
[1] 1z
> for [k in 1:5) {A[l,1l]=k:;B=solwve (i) *det (L) ;print (B[1,1]1}
[1] =2
[1] =2
[1] =2
[1] =2
[1] =2
> A[1,1]=1; printideti))
[1] 4
> A[1,1]=2: printidet (k)]
[1] &
> A[1,1]1=3; printidet (k)]
[1] &
> AL[1,1]=4; printideti))
[1] 10O
> A[1,1]=5; printideti)):
[1] 1z
> A[1,1]1=1; EB=solwe(l) *det (i) :print(B[1,1])
[1] 2
> A[1l,1]=2; EB=solwe (i) *det (L) ;print (B[1,1])
[1] =2
> A[1,1]=3: B=solwve (k) *det (L) ;print (B[1,1]]
[1] =2

> A[1l,1]1=4:; EB=solwve (k) ¥det (L) ;print(B[1,1])
[1] =
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D2BSS XBEB S¢S TP EE ¢ OFe gx& B
IY]EIE Maple Input Vllhﬂnnaspaced V||12 Vllf I U L=k = m 1
Expression : _3> with{Linearalgehra) : -
_3> De=<<1l|1l]1]1=,<4|3 |21, <1221 ,<1|3 2125
TR
. s
A=
1 2 2 1
L1 3 2 2
_} for i from 1 to 5 do A[l,1]:=i; print({Determinant (&)} ;| od:
4
&
8
10
12
_> for i from 1 to 5 do A[l,1]:=i; B:=MatrixInverse(A) *Determinant (4} ;
print(B[1,1]): od:
b=
2
2
2
2
2
_} A[1,1]:=1: Determinant (i) ;
4 LS
_> B:=MatrixInverse (A) *‘Determinant (A): B[1,1]:
2
L |
< >
eacly I'I'ime: 0.20= hﬂemur‘f: 0.15m

Bl




